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Inl6]:= 1+ 8qrt[3])/4;
3 +8qrt[3]) /4;

(
(
53 - 8qrt[3]) /4;
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1-8Sqrt[3])/4;
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The next command loads a package to symbolically declare the type of variables (e.g. real or complex), We declare { fo be
real-valued and put in z=Exp[i*t] to represent a complex number with unit modulus,

Inf[d42] := << Algebra'ReIm‘

In[75]:= t /: Im[t] =0;
A=Re[P[Exp[i+t]]]A2+Im[P[Exp[ixt]]]*2

B=Re[P[-Exp[i+t]]]*2+Im[P[-Exp[ist]]]+2

n

Out[76])= (% + “/5;3— " 3C°85[t] * % V3 Cos[t] +

2
%005[2 t] h%—\/?Cos[Z t] +%~COS[3t] -%\/TCOS,[Bt]) +

' 2
(%+%\/§Sin[t] + %Sin[z £] —%«/?a‘sin[z £] 4+ %—Sin[3 £] ~%«/§sin[3 £]

out[77]= (% N “/g - 3C°§[t] - % {3 cos[t] +

3

. 2
5 Cos[2t] —%—\/?Cos[z t) —%COS[B t] +%\/3‘Cos[3 t]) +

. 2
(»iﬂgﬂﬁi~%—«[§sm[t] +%Sin[2 t] —%\f3_sin[2 £ —%Sin[B £] +%—«/§sin[3 t])

In[70):= Simplify[A + B]
out[70]= 1

And that is precisely what we had to prove. Please note that if you use a Computer Algebra System (CAS) you HAVE TO
supply a printed version of the commands you used. Now for the plot of the second part we get:

In[74]:= Plot[Abs[P[Exp[i+x]]], {x, ~n/2~-4, m/2+4}]

out[74]= =~ Graphics -

So we are clearly positive inside the interval [-2,2] and since 71/2<2, we get the result,
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